Adding to One Name:
Determing which letber hest answer the question. Answers

i Which 100« 10 gl 15 shadied 1o represenl the decimal number thal, when added 0.1,
resulis in o total of 1,007 I
A B C (]

£

x
3 Which 10 = 10 grid is shaded to represemt the decimal rumber that, when added 0.4, L
results in a total of 1,007
A i3 C [
H
LN

30 Which 100 10 grid is shaded 1o represent the docimal mimber that, when added e 0.8,
esults in o total of 1,007

A B C [H]

=

40 Which 100 % 10 grid is shaded 1o represent the decimal number that, when added v 0,98,
esults in o votal of 1,007

A 0 C [T (7]

a2

51 Which 1= 10 grigl is shaded to represerd the decimal pumber that, when added 0 0,97,
resulls im o pokal ol 1007

A 1] o 8]

B) Which 100 10 grid i3 shaded 10 fepresent the docimal number that, when added v 0,95,
results in o total of 1,007
A B C (1]
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